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RRK | IURK | FORK | IDRK

1| BSBHEERR- k] 6 2

2 | BEER- | BHRESR 1 2

3 | BSRHEERX- ] 1 5

4 | BSRHEERR- FN=Ed 5 6

5 | BSBHEMR- LN 0 6

6 | BESELEERR- S 4 3

7| BSRHEERR- BF 5 7
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2 ~ IRl (%) = (HIRARKE - REARLE) + HRERE X 100
3 v AChEMMRIRAIERERRIEL
(1) 0-34%(=34.5)&: 68
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we | memn | SETE ] EE TIFRARCBRR
RRK | IURK | FORK | IDRK

1| BSBHEERR- NE2tE 2 5

2 | BSRHEERR- NI 5 3

3 | BSRHEERX- E2LC 4 14

4 | BSRHEERR- BER 0 5

5 | HBSRHEERX- NEE 4 4

6 | BSRHEERX- BEsE 11 6

7| BSRHEERR- ES S 0 22

8 | BSRHEERX- TR 3 21

9 | BSRHEERRX- B 2 3

10 | BSEHEERR- fl&s 5 10

11| BSEHEEER- SEBX 0 16

12| BSBHEEER- g 6 2
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HERK YIS HRK MRK

1 fsRHERRAR- B 2 6

2 | BSRHEEER- AB%x 8 8

3 | BsEHEEER- | BMIMAE 2 1

4 | BEBHEER- oW 4 13

5 | BsBHEEEX- ES 0 7

6 | BsBHEER- =1 10 5

T | BsBHEEER- f#ES 4 11

8 | BsBHEER- 2 16 6
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